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ÿoˆÁTˆEı YÁPˆy‘] ( B.D.P.) 
◊`l˘Á[˝bÔÁ‹ôˆ YÃ[˝›l˘Á ( Term End Examination ) :  

◊Qˆ„a∂ëˆÃ[˝, 2015 C L«X, 2016 

%UÔX›◊Tˆ ( Economics ) 
B◊¨K˜Eı YÁPˆy‘] ( Elective ) 

aä] Yy [ 7th Paper : Developmental Economics 
(Advanced) & Mathematical Technique in 

Economics ] 
a]Ã^  f ªJÙÁÃ[˝ H∞RÙOÁ Y…SÔ]ÁX  f 100 
Time : 4 Hours Full Marks : 100 

( ]Á„XÃ[˝ mÃ[˝”±ºˆ  f 70% ) 
( Weightage of Marks : 70% ) 

Y◊Ã[˝◊]Tˆ C ^UÁ^U =w¯„Ã[˝Ã[˝ LXÓ ◊[˝„`b ]…_Ó ÂVCÃ^Á c˜„[˝* 
%£à˘ [˝ÁXÁX, %Y◊Ã[˝¨K˜~TˆÁ A[˝e %Y◊Ã[˝õıÁÃ[˝ c˜ÿôˆÁl˘„Ã[˝Ã[˝ Âl˘‰y X∂ëˆÃ[˝ 

ÂEı‰ªRÙO ÂXCÃ^Á c˜„[˝* =YÁ„‹ôˆ Y“‰`¬Ã[˝ ]…_Ó]ÁX a…◊ªJÙTˆ %Á‰ªK˜* 
Special credit will be given for accuracy and relevance 

in the answer. Marks will be deducted for incorrect 
spelling, untidy work and illegible handwriting. 

The weightage for each question has been 
indicated in the margin. 

 
 

1* Â^-ÂEıÁ„XÁ V«◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX  f 20 × 2 = 40 

 (Eı) %UÔÍX◊TˆEı a] ◊à˘ [˝_„Tˆ Eı› Â[˝ÁMıÁÃ^ ? ]ÁUÁ◊YªK«˜ %ÁÃ^ 

Eı› %UÔÍX◊TˆEı =~Ã^„XÃ[˝ ◊X„V¤`Eı ? =Y^«N˛ ^«◊N˛ac˜ 

[˝ÓÁFÓÁ EıÃ[˝”X* ÂEıÁX ÂV„`Ã[˝ %UÔÍX◊TˆEı =~Ã^„X ]ÁX[˝ 

a+V =~Ã^„XÃ[˝ \…ˆ◊]EıÁ %Á„_ÁªJÙXÁ EıÃ[˝”X* 4 + 8 + 8   

 (F) È•Tˆ %UÔX›◊Tˆ [˝_„Tˆ Eı› Â[˝ÁMıÁÃ^ ? È•Tˆ %UÔX›◊TˆÃ[˝ 

◊[˝◊\ˆ~ Ã[˝÷Y [˝ÓÁFÓÁ EıÃ[˝”X* =• w¯ `“]-a+~ 

%UÔÍX◊TˆEı [˝Ó[˝ÿöˆÁÃ^ ]…_W˝X GPˆX a+„EÔı _«c˜O„aÃ[˝ 

]„Qˆ_◊ªRÙO %Á„_ÁªJÙXÁ EıÃ[˝”X* 4 + 6 + 10 

 (G) a«b] a] ◊à˘ EıUÁ◊ªRÙOÃ[˝ %UÔ Eı› ? a«b] a] ◊à Ã̆[˝ ◊[˝◊\ˆ~ 

\ˆÁbÓ %Á„_ÁªJÙXÁ EıÃ[˝”X* %a] a] ◊à˘ a+„EÔı ◊aÜÁÃ[˝-

c˜Á∏JÙ¤]ÓÁX \ˆÁbÓ◊ªRÙO [˝ÓÁFÓÁ EıÃ[˝”X* 4 + 6 + 10 

 (H) ª%UÔÍX◊TˆEı =~Ã^„XÃ[˝ ◊[˝◊\ˆ~ ÿôˆÃ[˝ a+„EÔı Ã[˝‰∫RÙOÁÃ[˝ 

]Tˆ[˝ÁV◊ªRÙO a]Á„_ÁªJÙXÁac˜ [˝ÓÁFÓÁ EıÃ[˝”X* 

2* Â^-ÂEıÁ„XÁ ◊TˆX◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 12 × 3 = 36 

(Eı) `“]-◊X◊[˝QÕˆ C ]…_W˝X-◊X◊[˝QÕˆ =dYÁVX Yà˘◊TˆÃ[˝ Y„l˘ 

C ◊[˝Y„l˘ ^«◊N˛m◊_ %Á„_ÁªJÙXÁ EıÃ[˝”X*  

(F) LXaeFÓÁ [˝ ◊à˘ C %UÔÍX◊TˆEı =~Ã^„XÃ[˝ ]„W˝Ó a+EÔı 

%Á„_ÁªJÙXÁ EıÃ[˝”X* 

(G) ªK˜≤ø„[˝`› Â[˝EıÁÃ[˝±ºˆ EıÁ„Eı [˝„_ ? ªK˜≤ø„[˝`› Â[˝EıÁÃ[˝„±ºˆÃ[˝ 

]„W˝Ó aá˚Ã^ Eı›\ˆÁ„[˝ _«◊Eı„Ã^ UÁ„Eı ? Ac˜O aá˚Ã^ Eı› 

a[˝ÔVÁc˜O Y◊Ã[˝_◊l˘Tˆ c˜Ã^ ? %ÁYXÁÃ[˝ =w¯„Ã[˝Ã[˝ ÿëˆY„l˘ 

^«◊N˛ ◊VX* 2 + 6 + 4 

(H) a] ◊à˘Ã[˝ ªJÙÁ◊_EıÁ`◊N˛ ◊c˜„a„[˝ %Á‹ôˆL¤Á◊TˆEı [˝Á◊SLÓ 

EıTˆªRÙOÁ EıÁ^ÔEıÃ[˝› Âa ◊[˝b„Ã^ %Á„_ÁªJÙXÁ EıÃ[˝”X* 
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(I¯) È[˝„V◊`Eı aÁc˜Á„^ÓÃ[˝ Âl˘‰y ◊TˆX ZgıÁ„EıÃ[˝ ]„Qˆ„_Ã[˝ ]…_ 

[˝N˛[˝Ó◊ªRÙO ◊[˝‰`¿bS EıÃ[˝”X* 

(ªªJÙ˜) ]…_W˝X-=dYÁVX %X«YÁTˆ [˝_„Tˆ Eı› Â[˝ÁMıÁÃ^ ? Ac˜O 

%X«YÁ„TˆÃ[˝ _l˘Sm◊_ ae„l˘„Y %Á„_ÁªJÙXÁ EıÃ[˝”X* 

  4 + 8 

3* Â^-ÂEıÁ„XÁ ªJÙÁÃ[˝◊ªªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 6 × 4 = 24 

(Eı) =~Ã^„XÃ[˝ LXÓ ÂLÁÃ[˝ W˝ÁhıÁ Tˆ√º¯◊ªRÙO %Á„_ÁªJÙXÁ EıÃ[˝”X* 

(F) ◊`î aeÃ[˝l˘„SÃ[˝ Y„l˘ ^«◊N˛m◊_ %Á„_ÁªJÙXÁ EıÃ[˝”X* 

(G) ÿëˆ„îÁ~Tˆ ÂV`m◊_„Tˆ ◊[˝◊\ˆ~ W˝Ã[˝„XÃ[˝ Â[˝EıÁÃ[˝±ºˆ a∂ëˆ„μ˘ 

%Á„_ÁªJÙXÁ EıÃ[˝”X* 

(H) LXaeFÓÁ ◊[˝bÃ^Eı Ã[˝÷YÁ‹ôˆ„Ã[˝Ã[˝ Tˆ√º¯◊ªRÙO %Á„_ÁªJÙXÁ EıÃ[˝”X* 

(I¯) X-AÃ[˝ ◊[˝y‘Ã^ ÂU„Eı _ï˘ %ÁÃ^ a]›EıÃ[˝S c˜_ 

 2100 QQR −=  

 [ R : %Á„Ã^Ã[˝ a…ªJÙEı; Q : X-AÃ[˝ Y◊Ã[˝]Á„SÃ[˝ a…ªJÙEı ] 

 Y“Á◊‹ôˆEı %ÁÃ^ (MR) ^FX 20 c˜Ã^, TˆFX ªJÙÁ◊c˜VÁÃ[˝ 

◊[˝≥V«ÿöˆ ◊ÿöˆ◊TˆÿöˆÁYEıTˆÁ ◊XSÔÃ^ EıÃ[˝”X*  

 (ªJÙ) W˝Ã[˝”X Â^ C = a + by AEı◊ªRÙO Â\ˆÁG %„Yl˘Eı, Â^FÁ„X 

a > 0 A[˝e 0 < b < 1  

 (i)   AÃ[˝ GQÕˆ C Y“Á◊‹ôˆEı %„Yl˘Eı V«◊ªRÙO Â[˝Ã[˝ EıÃ[˝”X* 

(ii)  %ÁÃ^GTˆ ◊ÿöˆ◊TˆÿöˆÁYEıTˆÁ cyE
 
◊XSÔÃ^ EıÃ[˝”X* 3 + 3 

(ªK˜) W˝Ã[˝”X =dYÁVX %„Yl˘Eı aaLAKQ −= 1 , 
10 << a , ^◊V =YÁVÁX◊ªRÙOÃ[˝ VÁ] KP  C LP  c˜Ã^, 

ÂVFÁX Â^ ◊[˝ÿôˆÁÃ[˝YU◊ªRÙO c˜„[˝ 

0..)1( =−− LaPKPa LK  

(L) ^◊V AEı◊ªRÙO Eı[˝C„Ã^[˝ ]„Qˆ„_Ã[˝ ªJÙÁ◊c˜VÁ C Â^ÁGÁX 

%„Yl˘Eım◊_ ◊X∂oˆÃ[˝÷Y c˜Ã^, 

 tdt PQ 318 −=  

 143 −+−= tst PQ  

 Tˆ„[˝ \ˆÁÃ[˝aÁ]Ó VÁ] EıTˆ c˜„[˝ ? Ac˜O \ˆÁÃ[˝aÁ]Ó VÁ] Eı› 

ÿöˆÁÃ^› c˜„[˝ ? 2 + 4  
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English Version 
 
 

1. Answer any two questions : 20 × 2 = 40 

(a) What do you mean by economic growth ? Is 

the per capita income an indicator of 

economic development ? Explain with 

suitable reasons. Discuss the role of 

development of human resources or 

economic development of a country. 

  4 + 8 + 8 

(b) What is meant by economic dualism ? 

Analyse the different forms of economic  

dualism. Discuss the process of capital 

formation in a labour surplus economy with 

the help of Lewis model.  4 + 6 + 10  

(c) What is the meaning of balanced growth ? 

Discuss the different versions of balanced 

growth. Discuss the Singer-Hirschman 

version of unbalanced growth. 4 + 6 + 10  

(d) Critically discuss Rostow's Doctrine 

regarding the stages of economic 

development. 

2. Answer any three questions  : 12 × 3 = 36 

(a) Discuss the arguments for and against the 

Labour-intensive technology and Capital- 

intensive technology.  

(b) Discuss the relation between the Population 

growth and Economic development.  

(c) What is meant by Disguised  

unemployment ? How is saving concealed 

in disguised unemployment ? Is this saving 

always noticed ? Give reasons for your 

answer. 2 + 6 + 4 

(d) Discuss the effectiveness of international 

trade as an engine of growth.   

(e) Discuss the basic theme of Three gap 

model related to Foreign Aid.  

(f) What do you mean by Capital-outlet    

Ratio ? Discuss, in brief, the Capital-output 

ratio criteria. 4 + 8  

3. Answer any four questions  : 6 × 4 = 24 

(a) Discuss the Push theory of development.  

(b) Analyse the arguments in favour of 

protection of industries. 
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(c) Discuss the different forms of 

unemployment in an underdeveloped 

country. 

(d) Discuss the theory of Demographic 
Transition.  

(e) The equation of total revenue from sale      
of X is 

 2100 QQR −=  

 [ R = Income index; Q = Index of quantity  
of X ] 

 When marginal revenue is 20, determine 
the point elasticity of demand.  

(f) Suppose C = a + by is a consumption 
function, where a > 0 and 0 < b < 1. 

(i)  Find out its average and marginal 
functions. 

(ii) Determine the income elasticity cyE . 

  3 + 3  

(g) Suppose the production function is : 

 aaLAKQ −= 1 , 10 << a .  

 If the prices of the factors are KP  and LP , 

show that the expansion path is 
0..)1( =−− LaPKPa LK .  

(h) If the demand and supply functions of a 
Cobweb model are as follows : 

 tdt PQ 318 −=  

 143 −+−= tst PQ  
 what will be the equilibrium price ? Will 

this equilibrium price be stable ? 2 + 4 

    


